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M. (AR4-2) (2B BE/TA—41E. ROFETHETEHDET 2,
CLPHROWIMME (L C, o, o ,%HE) [F. HERTHEOEELNSEOTELRE
=81 BIEET B,
CGEREE (A ROKRES (1) 3. EBERTHOEST S,
EEREE (V) . HBERTHOREERR—ITHET 2,

3. BRAKILHEICS TR EOEHER O~ KHKERT—2ED L8
fE 341 DKHKEERT—2E (f84-1) RICKDREEEHEBEOLEEREM - FI42R
UfE-B 41, - 4212577,
BBERFENARGSE HEHREERBROENKRZLEH, ChITEEEERBIZHT
SMIBRCRFREATHETHELELYLERICIZNSWNHEEZOND,
fZ-&42 HERRICEHTIERTALHEERR

R Runi Run2
(h) EER HE = EER iHE =
0.00 -8.6 -8.6 0.0 -8.8 -8.8 0.0
0.25 6.2 -6.6 0.4 -7.4 -7.0 -0.4
050 -4.6 -49 0.3 -6.2 -5.4 -0.8
0.75 -35 -34 -0.1 5.2 -4.1 -1.1
1.00 -26 -22 -0.4 -4.3 -29 -14
1.25 -1.38 -1.1 -0.7 -3.3 -1.8 -15
1.50 -1.0 -0.2 -0.8 -26 -1.0 -16
1.75 -05 05 -1.0 -2.0 -02 -18
2.00 0.0 1.2 -12 -1.3 05 -18
2.25 05 1.8 -13 1.1
2.50 0.9 2.2 -1.3 / 1.6 /
2.75 / 2.6 / 2.0 /
3.00 / 3.0 / / 24 /
3.25 / 33 / / 2.8 /
3.50 / 35 / / 3.1 /
3.75 / 38 / / 33 /
400 |/ 39 / / 35/
425 / 41/ / 37|/
450, |/ 420 / / 39| /
500 / 44| / / 42| /
6.00 / 47| / / 45| /
7.00| / 48|/ / 47/
8.00)/ 49 48
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